	Схема

включения
	Подключение

резистора

к Т-2-10
	 Uo, В

	
	
	Положение переключателя ДГР, ток

	
	
	5      I=12,2 A
	4    I=10,6 A
	3      I=9,2 A
	2

I=7,7 A
	1

I=6,2 A

	МСВ-35 откл.

ЛЭП-Т-8 вкл.

ЛЭП-Т-Б вкл.

ЛЭП-Т-К вкл.

ЛЭП-Б-К откл.


	отключен
	760
	1000
	2200
	18000

(сигнал "земля")
	2200

	
	подключен
	700
	820
	1100
	1200
	1050

	МСВ-35 откл.

ЛЭП-Т-8 вкл.

ЛЭП-Т-Б +

+ ЛЭП-Б-К вкл.

ЛЭП-Т-К вкл.


	отключен
	1400
	2600
	22000

(сигнал "земля")
	2300
	1200

	
	подключен
	900
	1100
	1300
	1200
	900

	Т-1-10 35 кВ откл.

МСВ-35 вкл.

ЛЭП-Т-8 вкл.

ЛЭП-Т-Б +

+ ЛЭП-Б-К вкл.

ЛЭП-Т-К вкл.


	отключен
	2800

(сигнал "земля")
	15000

(сигнал "земля")
	3400
	1600
	1100

	
	подключен
	1400
	1500
	1400
	1100
	870

	Т-1-10 35 кВ откл.

МСВ-35 вкл.

ЛЭП-Т-8 вкл.

ЛЭП-Т-Б вкл.

ЛЭП-Т-К вкл.

ЛЭП-Б-К откл.
	отключен
	1300
	2300
	15000

(сигнал "земля")
	3200
	1500

	
	подключен
	950
	1200
	1400
	1300
	1000


